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Test in Analysis 3 Examen en analyse 3 Type B2 3 2

Probl. 1 p(x) = (x + 1) · (x − 4) · (x − 5) = . . .

(a) p′(x) = ?

(b) Min./ Max. von p(x) = ? • Min./ Max. de p(x) = ?

(c) p′′(x) := (p′(x))′ = ?

(d) Min./ Max. von p′x) = ? • Min./ Max. de p′(x) = ?

(e) Skizze: • Esquisse: p(x), p′(x), p′′(x)!

Probl. 2 f(x) = −x2 + 1
A(x) → max. ; x = ?

Probl. 3 f1(x) = cos2(x), f2(x) = cos3(x) d(x) = |f1(x) − f2(x)|, x ∈ [0,
π

2
] (Rad!)

d(x) → max. ; x = ?

Probl. 4

f(x) = −x2 + 1
A(x) → max.

; ϕ = ? (Rad!)

WIR


